) ot /- 4

Racing Screers

RETROVISION PARA - RETROVISION WINDSCREEN FOR -

MOTOPLASTIC, S.A.

info@puig.tv
www.puig.tv

WINDSCHUTZSCHEIBE RETROVISION FUR

BMW R NINE T SCRAMBLER

Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN

info@puigusa.com

www.puigusa.com

Ref.: 9338

( Black fairing )

Ref.: 9339

( Carbon look fairing )

K
’
© ALLEN & TORX
Ne 3 Ne T40
N° 6 Ne T45
-
o Facil - Easy
- Medi
1 persona ificil-
1 person 10 min gy

DESCRIPTION

1 Cupula Screen 1 1517 F/H/N/W
10562 NM3
2 Carcasa ABS ABS fairing 1
10562 CM3

Kit adhesivos

Stikers set

3 \\ E‘% Soporte metalico derecho (R) Right metal support (R ) 1 SOPOR-2P-1-9338
4 ﬁm‘“74 Soporte metalico izquierdo (L) Left metal support (L) 1 SOPOR-2P-1-9338
5 €y, Tornillo Allen M5x16 1SO 7380 M5x16 1SO 7380 Allen screw 7 TORNI-17380-493
6 (0/2) Silentblock M5 Silentblock M5 7 SILENBTM5-046/1
7 0 Arandela de nylon M5x0,5 M5x0,5 Nylon washer 7 | ARNV00000000245
8 @Imm) Tornillo Allen M8x35 DIN 912 M8x35 DIN 912 Allen screw 2 TORNI-AD912-196
9 @ Casquillo @ int. 8,5 x @ ext. 14x9 @ inner 8,5 x @ outer 14x9 Arrowhead 2 CASQUI 0100
10 O Tapon tornillo M5 ISO 7380 M5 1SO 7380 Allen screw cap 7 TAPON 85
ADHESI 207

ADHESI 208

Created by: www.ciandisseny.com



MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com
www.puig.tv www.puigusa.com

) ot /- 4

Racing Screers

RETROVISION PARA - RETROVISION WINDSCREEN FOR -
WINDSCHUTZSCHEIBE RETROVISION FUR

BMW R NINE T SCRAMBLER

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

@ DESMONTAJE MONTAJE
DISASSEMBLY ASSEMBLY @

19N/m - Consultar fabricante
14Ibf ft - See according to manufacturer

Pg. 2/3



MOTOPLASTIC, S.A. Tel. +34 93 849 06 33

A
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com

Racing Screerrs www.puig.tv www.puigusa.com

RETROVISION PARA - RETROVISION WINDSCREEN FOR -
WINDSCHUTZSCHEIBE RETROVISION FUR

e

BMW R NINE T SCRAMBEER

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

MONTAJE KIT ADHESIVOS
ASSEMBLY @ STICKERS SET




